	1 вариант
	2 вариант

	Var x, y: byte;

Procedure A1(a: byte; var b:byte);

BEGIN

   Writeln (a,b);

   A := a + 10;

   B := b+ a;

   Writeln (a,b);

End;

BEGIN

X := 3;  y := 5;

Writeln (x,y);

A1 (x,y);

Writeln(x,y);

End.


	var a,b,t,M,R :integer;

Function F(x:integer):integer;

BEGIN

    F := 4*(x-1)*(x-3);

end;

BEGIN

    a := -20;  b := 20;

    M := a; R := F(a);

    for t := a to b do
    BEGIN

     if (F(t)<R)then 
      begin

         M := t;

         R := F(t);

      end;

    end;

write(M);

End.


